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5. In the figure, point P is inside a square (& = 25) ABCD
that has side length (i £ ) of 1 cm. If points A; and A,
are midpoints(¥ 2t) of sides AD and BC respectively,
and points By, B, Cy, and C; trisect(= % 4 ) sides AB
and CD respectively, then what is the (& #%) in cm?, of
the shaded region(f& g% 4 )?
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8. In the figure, there are 16 line segment (3 £), where evert 4 B e £407 - LT A" ﬁ{Lrﬁ‘Ffi 23> Mt Wi a3 d o0 3¢

pair of two adjacent (4p #8) line segments are perpendicular 32% > Bl 3 5 ¥ o
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7. As shown in the figure, two circles (Ig]) share a common
point (= % 2t) at A. It is know that the diameter (2 %) of
the larger circle is 48 cm, while the diameter of the smaller
circle is 30 cm. If two beetles(? #.) depart from A (€A !

A

Z¥) at the same time at the same speed (i 7 ) but
travelling on different circles in the direction of the arrow
(7 ¥ % g > ), then the two beetles should be able to

travel along the circle at least (1 > ) how many times so
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